11 "9[qe L SHNSY Arewwing Sy ur papnjoul AJuo a1e ejep Iy ], "AJ[eHuUIPLU0d pajsanbal Aoy asnesaq 2[qe) Ay} Ul PAPNOUI JoU I §)uopuodsal Ay} JO JWOS :JON
800°L9%
- TLO6SS ¥ [9A]
1€€°6SS
- IVT 1SS 1€ [2A9]
981°91$
- 8TT'LES T 1PA]
TT9e
—T€TETS 1 19497
HAERT1119)
uoneIGruuy
165°8€$
- TIE'9ES :S [2A9]
LEY'SES
- SSSTES W [2A]
L IES
= 60T°6TS ‘€ 1949
925'82$
-S¥9°STS T 19A] 00T°611$ -
TEI'ST 000768 *VE 1947
—96S°E1S 11 [PA] $88°001$ -
$1304J0 dpeiL OLLT8S ‘€T 249
8L8°S9$ SST'16$ -
= 0TT9SS *S [2A9] 0TS°99$ VT 19497
LOS¥SS 08+°59$
- 900078 ‘¥ [9A9] - 006°SHS *1 [2A7]
: 0991018 678vbS 1RRAmMeT
- 091 S98 ‘¥ [9A9] - EV1°9€S 1€ [2A9] 6¥L°66$
t .mmh L9$ P1£8€$ - L1988 ‘8 [2A7]
- 9S1°TS$ 1€ [2A] - TTH'EES T 1PAYT S0Z'€6$
60798 1Zv'ee - 007788 1L 1949
- TH0'9YS (T 1A — 1T8'8T$ 11 194 901°98%
; 19L°9v$ 1RAme —8T6PLS 19 [2A]
A MHS 8L8'598 866°9LS
$RAMN] - 0TT'9SS :S [2A2] 661°01Z$ - | - ST9°998 :S 19A]
$69'56$ LOSPSS | L90'68IS ¥ 14T 0€9°L9$
- 097698 ¥ 1A = 900°0¥$ ‘¥ 19491 £79°068 | - 0£S'8SS ‘¥ [9A7] g
86L°L9S 6T87bS | ~6TL 6981 1241 £L8'95S e
- 95775 € 1A - P1°9€$ 1€ 19897 :AMET | - S66'8YS € 194V E_Mn_w.«_.“”h
] .@qsm P1E8€S 661°01T$ - 8ST'LYS »&.E.:&. o
= TH0'9YS *T 1°AYT] STTY'EES ‘TIPART | L90°68IS #1949 | - SI9'I¥S T 1PAT 10§ WNUIIXEW
sl 9L°9v$ 1TH°Ees PrT 198 0€8°Cv$ | pue wnwiunm
T 68LYYS 1 [A] sdnoi3d S 1T8'8TS T IAYT | - [TILPS T1PA9T | - €T8°9€S [ [2A2] Axepes oy
:ISImou0dy 12410 Sk dweg :ISTIou0d3 ISIIou0dy ;stuwouody | dpiaoad asedfq 8
4- A4LNNOD q- A4LNNOD a-A4LNNOD D - AMINNOD - A4INNOD ANVIVAZ MAN V- AYINNOD vsn JID/1LIvad

7007 ‘€ Ae\ — ] 34ed Jqe] SHNSYY Pafredq
yudwiAojduwy Jo SUORIPUO)) PUR SULID ], JO A3AInS S




